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QUESTION 1

A major upgrade of the ESXi code on an existing vSAN cluster was just completed. Upon logging on to the vSphere
Web Client, the vSphere administrator encounters Ul timeouts on vSAN specific menus. What could cause this?

A. vSphere Update Manager is offline.

B. vSAN Performance Service is offline.

C. vCenter Server has yet to be upgraded.

D. vSAN on-disk format has yet to be upgraded.

Correct Answer: C

QUESTION 2

Refer to the exhibit.
Enter Maintenance Mode X

This host is in a vSAN cluster. Once the host is in maintenance mode, it cannot access the vSAN datastore and the state of any
virtual machines on the datastore. No virtual machines can be provisioned on this host while in maintenance mode. You must
either power off or migrate the virtual machines from the host manually.

i Move powered-off and suspended virtual machines to other hosts in the cluster.

VSAN date migration Full data migration ~ ©

There are three hosts in a vSAN cluster. All virtual machines in the cluster are assigned a storage policy with failures to
tolerate set to 1 failure ?RAID-1 (Mirroring).

What is the result of placing a host in maintenance mode using the options shown in the image?

A. The host will enter maintenance mode. A reduced redundancy warning is displayed.

B. The host will not enter maintenance mode. The administrator is prompted to select a different data migration option.
C. The host will not enter maintenance mode. A general vSAN error is reported.

D. The host will enter maintenance mode. All powered-off and suspended VMs are migrated to other hosts.

Correct Answer: B

QUESTION 3
Which two storage policy changes require a full rebuild of all components for an object? (Choose two.)

A. Increase the number of disk stripes for an object from 2 to 3.
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B. Increase the IOPS limit for an object.

C. Reduce the Primary Failures to Tolerate from 2 to 1 for an object using a failure tolerance method of RAID-1
(Mirroring.)

D. Disable object checksum on an object.
E. Change the failure tolerance method of an object from RAID-1 (Mirroring) to RAID-5 (Erasure Coding).
Correct Answer: CE

Reference: https://cormachogan.com/2018/02/21/policy-changes-can-trigger-rebuild-vsan/

QUESTION 4

A VSAN administrator wants to implement end-to-end prioritization of vSAN traffic across the network in a shared
network infrastructure that is using vSphere Distributed Switches (VDS). Which two can help achieve this objective?
(Choose two.)

A. Configure CoS or DSCP with high priority tag at the VDS and equivalent in the physical network.

B. Enable jumbo frames for vSAN VMkernel ports and configure LACP for optimal load balancing.

C. Enable Network 1/0 Control and allocate higher shares for vSAN traffic.

D. Configure multiple vSAN VMkernel interfaces to load balance across multiple uplinks.

E. Enable network resource pool at the VDS level to prioritize vSAN traffic.

Correct Answer: BC

QUESTION 5
DRAG DROP

What is the correct power down sequence for shutting down all nodes in a vSAN cluster with vCenter on the vSAN
datastore?

(Place the first selection in the sequence at the top of the list, followed by the second, and so on until the last selection
is at the bottom of the list.)

Select and Place:
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Step Step

| Power off each host.

|Wait for objects to finish resyncing.

|
|
| Power off the VCSA. |
|

Place each host in maintenance mode using no
data migration via the host client.

| Power off the VMs excluding the vCenter.

Correct Answer:

Step | Step

‘ Power off the VMs excluding the vCenter.

|Wait for objects to finish resyncing.

Place each host in mzintenance mode using no
data migration via the host client.

‘IF’ower off the VCSA.

| Power off each host.

Reference: https://kb.vmware.com/s/article/2142676
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